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Motivation

e Study aspects of interannual variability

* Can we identify main drivers? (rainfall,
radiation, dryness)

* Point directions to possible improvements on
models



Methods

* Annual totals (GPP, Reco (=Ra + Rh), NEE, LE)

* Inter-model variability x Inter-annual
variability simulated by a particular model

* Aspects of spatial variability / site differences

(?)
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General results

Model means
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Inter annual variability
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Inter model variability
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Quest for ‘main drivers’
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Model means
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Conclusions (so far)

* Inter model variability is up to 3 times bigger
than inter annual variability simulated by

particular models

* |dentifying drivers subject to this large
variability is quite challenging

 Model mean indicate first qualitative drivers

— Annual radiation drives annual LE
— Annual rainfall (or dryness) drives annual GPP
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What do | need?

30-hour day length

Help on metrics (statistics to address how
significant is the relation between drivers and
responses)

Help to address also part of drivers of seasonal
variability

Ride to Tucson tomorrow afternoon






